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Q1. I enjoy trying to discover and write MATH 135 proofs.
A) Strongly disagree

B) Disagree

C) Neither agree nor disagree

D) Agree

E) Strongly agree

Q2.When I have difficulties with MATH 135 proofs, I know I can handle them.

A) Strongly disagree

B) Disagree

D) Agree

)
)
C) Neither agree nor disagree
)
E)

Strongly agree

Q3. Which of the following is equal to [53]*** + [5]7! in Z,?

(Do not use a calculator.)
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Theorem (Chinese Remainder Theorem (CRT)). If
gcd(my, me) = 1, then for any choice of integers ay and
ay, there exists a solution to the simultaneous congru-
ences

a1 (mod my)

n

]

n as (mod mso)

Moreover, if n = ng is one integer solution, then the
complete solution is n = ng (mod myms).

Theorem (Generalized CRT (GCRT)). If my, mg, ..., my
are integers and ged(m;, m;) = 1 whenever © # j, then
for any choice of integers ai,as,...,ax, there exists a
solution to the stmultaneous congruences

n=a; (mod m)
n=ay (mod my)
n=a; (mod mg)

Moreover, if n = ng 1s one integer solution, then the
complete solution 1s

n=mng (mod mims...my)
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